www.das-bastelteam.de ->Ldsungen: Teilermenge Blatt Nr.:546
Zahl geht max. bis 50.

Tz = {1,3,13,39}
Ti9 = {1,19}

T, = {1,2,11,22}
T = {1,2,3,4,6,12}

T13 - { 1, 13}
T46 — { 1, 2, 23, 46}
T23 - { 1, 23}

T = {1,2,19, 38}

T,y = {1,3,7,21}

Tis = {1,3,5,15}

Ts = {1,5}

T3 = {1,3}

Tos = {1,5,25}

Tao = {1,7,49)}

Te = {1,2,3,6}

T = {1,2,4,5,8,10, 20,40}
To = {1,3,9}

T, = {1,7}

Tis = {1,2,3,6,9, 18}
Tso = {1,2,5,10, 25,50}
Ts = {1,3,5,9,15,45}
To7 = {1,3,9, 27}

www.bin-dann-weg.de -> Ferienwohnungen und Ferienhauser
www.kleinanzeigen-und-annoncen.de -> Kostenlose Kleinanzeigen Deutschlandweit



